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Varsity Team
Jr. Varsity Team
Tatal

The intersection of Varsity Team row AND the Guards nnlum;?nnhim a

There are 3 players who are both a Varsity player AND a Guard

The intersection of the Varsity Team row AND the Forward column contains a .
There are 5 players who are both a Varsity player AND a Forward

The intersection of the Varsity Team row AND the Centers column contains a .
There are 2 players who are both a Varsity player AND a Center

The intersection of the Jr. Varsity Team row AND the Guards column containg a .
There are § players who are both a Jr. Varsity player AND a Guard

The intersection of the Jr. Varsity Team row AND the Forward column contains a
There are B players who are both a Jr. Varsity player AND a Forward

The intersection of the Jr. Varsity Team row AND the Centers column contains a .
There is 1 player who is both a Jr. Varsity player AND a Center

eﬂ Guards Forwards Canters Total
Varsity Team 3 2 10
Jr. Varsity Team}l——6§——— 1 \ 15
< 1
Total 9 13 3 25

The entire row of Jr. Varsity and the entire column of Forward are blue so the answer is
Jr. Varsity Team OR Forward  but you could also use Forward OR Jr. Varsity Team

Forwmds © 5 + 8 =12
Je. \/m/;.',:y leam [+ 8 + ] = v
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g /)M Count tweice |

Q j Centers
Varsity Team

Jr. Varsity Team

Total

The entire row of Varsity and the entire column of Center are blue so the answer is
Varsity Team OR Center you could also use Center OR Varsity Team

2 Aas  coun twice .

o j /’ﬁ P( Jr. Varsity OR Center)

Guards Forwards Centers Total
Varsity Team 3 5 10 K/ /\6_( Count 754/.‘60
Jr. Varsity Team
Total 9 13 25 < Lot
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PR 25

q o
Varsity Team 10

Jr. Varsity Team 15

\/ Total 25
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Eg#. Find probability that a randomly selected person is a ma'th major OR a female?

_ | Math | English Total _

' Female | 10 | 20 | 3o _ J/

Male |4 67 7/

Total | H | g / Y ]
Sol: — 4 +&7=/0) v 3947 2o/,

[7 (/V\M or Femm@ — P (MM) T P(/:W/e> T P (M"*/‘ and /:fm/e)
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o |
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Eg. Given the fast food serving information below:

McDonald’s Burger King Wendy's Taco Bell
Orders accurate 329 264 249 145 7 /
Orders not accurate | 33 54 31 13 (3/

3b2 3/8 280 (58
a. If one order is selected, find the probability of getting an order that is not accurate. [/
b. If one order is selected, find the probability of getting an order that is from Wendy's or not

accurate? |
[ 187 |

713/?/

362 318 280 I<R e\

S M'\%ﬁj ~[-oc/~a/
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Gj Find the following using the table:

a. If 1 of the 555 test subjects is randomly selected, find the
probability that the subject had a positive test result, given

that the subject actually uses drugs. That is, find P(positive

test result | subject uses drugs).
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@j Find the following using the table:
a. If 1 of the 555 test subjects is randomly selected, find the
probability that the subject had a positive test result, given

that the subject actually uses drugs. That is, find P(positive

test result | subject uses drugs).

I
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Positive Test Result Negative Test Result
(Test shows drug use.) (Test shows no drug use.)
Subject Uses 45 5 §o
Drugs (True Positive) (False Negative)
Subject Does Not 25 480
Use Drugs (False Positive) (True Negative) SOS
70 48
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Find the following using the table:
b. If 1 of the 555 test subjects is randomly selected, find the
probability that the subject actually uses drugs, given that
he or she had a positive test result. That is, find P(subject
uses drugs | positive test result).
Positive Test Result Negative Test Result
(Test shows drug use.) (Test shows no drug use.)
Subject Uses 45 5 Co
Drugs (True Positive) (False Negative)
Subject Does Not 25 480 _
Use Drugs (False Positive) (True Negative) S‘O_S
70 4&€ )



‘ Use Drugs ‘ (False Positive) ‘ (True Negative) ‘ 5 O-S

70 488 S¢¢
> Psvhjen uses dugs | positue test rvesuly)
P(sbjen wses dgs and posiue test vesy)
= p ( Posttue tesy vesly)
.
X o\(o%

[E&The table below shows the number of survey subjects who have received and not received a

speeding ticket in the last year, and the color of their car. Find the probability that a randomly chosen
person:

a) Has a speeding ticket given they have a red car

b) Has a red car given they have a speeding ticket

Speeding No speeding Total

ticket ticket

7\
Red car @y 135 150V
Notredcar | 45 470 515
Total 60 605 665

S:o0) P(ffw/f«j tivket | red cw>

- { (Speedng tikes and red ar)
P( r @{ Car >
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Eg. A home pregnancy test was given to women, then pregnancy was verified through blood tests. The
following table shows the home pregnancy test results. Find

a) P(not pregnant | positive test result)

b) P(positive test result | not pregnant)

Positive Negative test Total
test
Pregnant 70 4 74
Not Pregnant @ 14 19
Total 75V 18 93

a) P( no+ P“j"""* Posifng +es+> é P(PD $rfe +e”/ rot / ,57““)

— Pl g ol posina test) | — PPtk tosy and mop Pegun)
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eg In an experiment, college students were given either four quarters or a $1 bill and
they could either keep the money or spend it on gum. The results are summarized in

the table. Find the probability of randomly selecting a student who kept the money,
@hat the student was given four quarters.

Purchased Gum Kept the Money ©
Students Given Four Quarters 34 15 —= 47
Students Given a $1 Bill 13 27

S

P(kee]o f'/\t /none\aj ,-four 7!4«/»‘8/_()
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49

|}

2 0.3
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